
Change Between Points

Suppose we arrive at a gas station with 2 gallons of gas in the
tank, and we fill it to 14 gallons.
We can find how much the amount of gas changed by taking
the difference: 14 − 2 = 12
In general, Change = end value − starting value
What about change between points from (x1, y1) to (x2, y2)?
One way we can look at the change between points is by
looking at how much x and y each change individually.
Change in x = end x value − starting x value
∆x = x2 − x1
Change in y = end y value − starting y value
∆y = y2 − y1
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